T 2 FEBRBRASLEFERAZEERE 2 REEERSHERIL

[£ B8 HDEE]

R4 R - B4 HEANE | RHIEE SR | AREK
AL BRECR R 1 1 1
W W R 12 6 6
st @R 5 1 1
T HREHCR} 2 0 0
e o e B IR 2 1 0
TSR AT P 2 5 5
AN NS GEZES 1 3 1

" e | JOEPER 2 2 2
MERESEE - W Ry 5 2 >
e 5w A 2 1 1

B B VA MR 2 2 2
A 11 7 7

W e AR 4 0 0
BER R 6 1 0

A =R (%) 1 2 1
el 36z v W@ R} 2 2 2
N A 4 3 3

. AR 10 0 0
B ] ] 0 0
L - BRI AR 2 0 0

& 2t 77 36 29
[FE B DFRIE]

FR4 R - A SERE | RKHEER | ABEK
JUR A 8 3 3
WEFEEN 1w em 12 5 3

Em R R/ 12 13 12

L I H s R R 1%) 9 2 3
W E AL (TR 9 0 0

& i) B @R 8 1 1
IS [ @R 3 1 1
A W@ R} 3 0 0
. s R 6 0 0
& 2t 70 25 23




